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Writing — paper based - (sd§40%
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LYl i 60%-Reading — Swift Assessgdg sidl
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’ ” Sessionl (Reading) From 10:30 am - 11:30 am (1 hour) (g4 sl
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Artificial intelligence |tk g8l
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Representative Jiaall
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Concentration JuS Al
Interruption dadaliall
Electronic 9 sl
Practical s

1. The party was in

a) venue
b) can
c) book

2. He has avery personality, always

thinking things will go wrong.




3.

4.

a) optimism
D) pessimism

C) respect

The

a) venue
b) capacity
C) identity

The speech was
audience.

a) appropriately

of the hall was 200 people.

and well-received by the




b) artificial

C) interruption

5. The celebration was to honor the

achievements of the team.
a) interpret
b) transform
C) representative
The answers:
1. a)venue
D) pessimism

b) capacity

W

a) appropriately




5. C) representative

Passives: with reporting

dsgllaoll uelgdll

Can report current and

GSE Grammar

Can use 'itis/was
believed/reported that' + VP to

verbs future plans and belief
intentions. (42) report beliefs, reports, rumours,
) etc. (67)

Passives: Can use the present Can uassespi)\::sir(?r::tocnc:n;[g;uous
present simple passive. P P lish
continuous (48) sentences. (see Eng is
passive Grammar Profiler)

o Can describe hypothetical | ., <0 155 iffas though' with the
Conditionals: (counterfactual) results of ol ; h hetical

second a current action or past simple to refer to hypothetica

correhaterel situation using or counterfactual circumstances.

the second conditional. (48)

(70)

Expressing opinion
Describing past experiences

and




_ Can use 'must' and 'can't Can use a wide range of events
Modals: deduction for inferences and modals of deduction in _
assumptions in the complex sentences. (see Comparing and
present. (49) English Grammar Profiler) _
Can use 'than' + an increasing contrasting
- _ Can make comparisons range Qf non-finite clauses (to-
Adjectives: comparatives with 'more’ + longer |nf|r_1|t|ve, reduced clause)
adjectives. (36) formm_g the second part ofg
i comparison after a comparative
adjective.
(see English Grammar Profiler)
Can form the Can use a suuperllative adjective
Adjectives: superlatives superlative of longer (+ noun) (+ 'that) followed b_y a
regular adjectives with cla_use to talk abo_ut something
‘most'. (36) unique. (see English Grammar
: Profiler)
1. To report beliefs, it is common to use the structure " + VP," such as in the sentence, "It is

believed that the project will succeed.”
A) It is/was believed that

B) Can + infinitive

C) As though + past simple

D) Present continuous passive

2. If  won the lottery, | buy a new car.
A) will

B) would

C) must

D) can

10




3. The new software used by many companies for their daily operations.

A)is

B) was

C) has

D) is being

4."

A) If

B) Unless

C) When

D) As though

5. He

| had studied harder, | would have passed the exam."

be at the meeting right now; | saw him leave the office earlier.

A) must
B) can't
C) could
D) might

6. The

restaurant in the city is the one by the lake, which has the most amazing view.

A) most
B) more
C) least
D) best

11




7. She explained the situation as if she
A) has

B) had

C)is

D) will

8. The project
A)is

B) will be

C) is being

D) was

Answers:
1. A) It is/was believed that
B) would
D) is being
A) If
B) can’t
A) most
B) had
B) will be

© N o g bk WD

been there herself.

completed by the end of this week.
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Exam Specifications WisY Olaslge

1.Writing ( 40% of the exam mark)
Opinion (5 marks)

Students are asked to produce atleast two sentences that contain their opinion about the topic of a short

essay prompt.

SAMPLES

Opinion Question:

Do you think artificial intelligence will have a positive or negative

impact on the future of business and jobs? Explain why.

Suggested Answer.

Artificial intelligence will significantly benefit the future of business and jobs. By
automating repetitive tasks, Al can free up human workers to engage in more
creative and strategic roles, leading to an expansion in the variety of jobs.
However, it also requires businesses to adapt to new technologies and invest in

employee training to ensure successful integration."
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In my opinion, I think -=--=--=-msmemmmm oo because ----------=--=-nmnnmne- &S o8 bghasdl iy (e diglladll

---------------------------- s U bl
Plan Question (5 marks) Leviiall § &L bl i ¢ <

Students are asked to produce aplan to answer an essay prompt.

g JUI p2yally JoI (el
Suaisb B Al o LY

n *
points in the introduction, body, and conclusion of the essay or a mind mapmga s 4_,\;'&][, e}a_'; g_'g}“. (VN 5_)‘-3’3"_9

Students are asked to create @ plan for their essay. Plans can vary . For example, it can be “the main

Introductionéas ade

SAMPLES Heens

] 0 et (Jouad £Guinghl it i

Write a plan about:

deinsio g Ak shlas|

Plan an essay on the following topic:
o g0 e sl

"How can advancements in artificial intelligence and i g ol ol
technology affect the future of business and jobs? o Ja sy 3] 8500
Sl
BUU o s
Guidelines for Planning: o gl o ikl

e : ol dubinar B Al 1g Gimulle
. Plan your response before writing. Consider the
o jsiss ¥ Jlgusdl (J Baggd!

following: Jeb
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. Be sure to include:

. Introduction: What is your main argument or thesis Conclusion sl
of &l dly fouiasd] yauddd

statement?
g;sﬁ ol shias] o comdbotad (Jfgmandl

. Body Paragraphs: How will you organize your Bl Sk o Sy

ideas? Think about the key points you want to
discuss.
What are the positive impacts of AI and
technology on businesses and jobs?
What are the possible negative consequences or
challenges?
- Conclusion: Summarize your key points and restate

your opinion.

. Topic sentences for each paragraph.

15




- Supporting details and examples to justify your
opinion.
Introduction:

. Thesis statement: Advancements in artificial intelligence (AI) and
technology are expected to revolutionize the future of business and
jobs, offering both benefits and challenges.

Body Paragraph 1:

. Topic sentence: One major benefit of AI and technology is the
increased efficiency and productivity in businesses.

« Supporting details:

o Automation of repetitive tasks will free up time for employees
to focus on creative and strategic roles.

- Examples: AlI-powered customer service tools and inventory
management systems.

o Impact on business success: Increased profits, faster decision-
making processes.

Body Paragraph 2:

16




. Topic sentence: However, there are also challenges and potential
negative consequences that come with these advancements.

« Supporting details:

- Job displacement: Automation may lead to job losses,
especially in industries that rely on routine tasks.
- Examples: Manufacturing jobs being replaced by robots, data
entry jobs being automated.
o Solutions: Companies can invest in employee retraining
programs and help workers transition to new roles.
Conclusion:

. Summary: Al and technology offer significant benefits to businesses,
such as increased efficiency and new job opportunities. However, the
negative effects, including job displacement, should be addressed
through proper planning and retraining efforts.

. Restate thesis: Ultimately, AI and technology have the potential to
improve business outcomes, but their challenges must be managed

to ensure a positive future for both industries and workers.

(32152 5) 1duid )l LS dogo
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Main Writing Task: (25 marks)

Students are asked to produce anextended text in response to a prompt and three bullet
points

Students are asked to use the plan they have created to write at least 120-word

essay about the same topic in the plan.

Write 100 -word essay on the following topic:
"How do advancements in artificial intelligence (AI) and
technology impact the future of business and jobs?
Respond to the following points in your answer:

1.The potential benefits of AI and technology for

businesses.

2.The possible negative effects of AI on the job market.

3.Solutions for mitigating the challenges AI may

present to workers.

Body 2 (gl @ sadl
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How do advancements in artificial intelligence (AI)
and technology impact the future of business and
jobs?

Response:

Advancements in artificial intelligence (AI) and
technology are reshaping the future of business and
jobs. On the positive side, businesses stand to gain
significant benefits from AI, including improved
efficiency and productivity. Automation of routine
tasks allows employees to focus on more creative and
strategic aspects of their work. For example, AI-
powered software can streamline customer service
and inventory management, ultimately leading to

cost savings and increased profits.

e LYl adgig duwss I 8,51
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However, these technological advancements can also
have negative effects on the job market. Many
workers in routine or manual jobs may face
unemployment as Al takes over tasks once performed
by humans. Jobs in industries like manufacturing and
retail may be particularly vulnerable. To address this
challenge, businesses and governments must invest
in retraining programs to help workers transition to
new roles, particularly in tech-related fields.

In conclusion, while AI and technology offer
considerable advantages for business efficiency, it is
important to balance progress with a focus on job
creation and workforce development to ensure that

workers are not left behind.

(o 3) ! Jlgaw
gzt 8 Ol e Cllay
Sl Zlsiwd JIgew e
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20




Question 1: Inference (2 Marks)

Read the following text and answer the questions below. Use full
sentences.

Text:

The Future of Work: The Impact of Artificial Intelligence on Jobs
Artificial intelligence (AI) has been transforming industries at an
unprecedented rate, and its impact on the future of work is both
exciting and concerning. In the workplace, Al has already shown its
potential to automate mundane tasks and increase efficiency. For
example, AI can quickly analyze data and generate reports,
allowing employees to focus on more strategic and creative tasks.
As a result, businesses can increase productivity and innovation,

which may lead to a more competitive global economy.

7

--------- A Al Juabl i

553 oA LaS
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However, there are significant challenges. The widespread adoption
of AI could result in job displacement, especially in sectors that
rely heavily on routine, manual labor. According to a recent study,
automation could eliminate millions of jobs in the next few
decades, particularly in industries like manufacturing and retail.
While some argue that AI will create new jobs, these may require
skills that many workers do not currently possess.

To address these issues, experts suggest that workers will need to
adapt by acquiring new skills, especially those related to
technology. Companies and governments are urged to provide
retraining opportunities and promote lifelong learning to help
workers transition into new roles. The future of work will require
collaboration between businesses, policymakers, and employees to

ensure that technological progress benefits everyone.

22




Free-Response Question:
1. In your opinion, what is the primary concern regarding Al’s

impact on the future of work as discussed in the text?

Model Answers
Question 1 (Inference):
The main challenge faced by the villagers is the destruction of their

forest by the logging company.

Question 2: Justification (3 Marks)
2. Justify your answer to the previous question using evidence

from the text.

23




This is the main challenge because the text mentions that the
villagers "relied on the trees for food, shelter, and income." It also
states that "large trucks arrived, and workers began cutting down
the trees at an alarming rate," which caused the villagers to worry
about losing everything. Their decision to write a letter and contact
environmental organizations further shows how serious this

problem is to them.

I think that ------===mmmcccccccccaaeee because ------==seeanaaaa-

--------------------------------------------------------------- asitis
mentioned in paragraph ( ) line() I quote some

evidence that support my
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1. Inference Answer (2 marks):

The primary concern regarding AI's impact on the future of work is the potential for job displacement,

especially in sectors that rely on routine, manual labor.

2. Justification (3 marks):

The text highlights the concern that AI will eliminate millions of jobs, particularly in industries like

manufacturing and retail. It states, “Automation could eliminate millions of jobs in the next few

decades, particularly in industries like manufacturing and retail.” This clearly shows that job loss due to

AI automation is a significant worry.

2. Reading : (60% of the exam mark)

O %60) 85 yuibed] . 2

QWS >y

MAZE 1(4 marks)
08 BB Jozell (S Ayl delgill e 5535 Al

4 questions

Gap-fill sentences within a MAZE
text that test students’ awareness of basic grammar and sentence phrasing.

SAMPLE.J4a

Text:

0 BYI5 e 355 A
Jorll caSyg dutsyll delgdl.
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Read the text and choose the correct option (a, b, or c) to fillin the gap.

Text:

Cultural customs vary significantly between countries. In some places, itis

that people greet each other with a hug, while in others, a

handshake is more common. Technological advances have many

of these traditions, but they still play a central role in people's lives. It is

often that these customs are slowly changing with globalization,

but people continue to hold onto their cultural identity.

1. In the first sentence, the correct verb form is:

a) believed

b) reports

c) was believed

2. In the second sentence, the appropriate verb form is:

a) changed

26




b) changing

c) been changed

3. In the third sentence, the most appropriate choice is:

a) itis reported

b) they believe

c) it was believed

4. In the final sentence, the phrase that best fits the meaning is:

a) people must hold onto

b) people can hold onto

c)itis believed that people hold onto

Answers:

1. a) believed

2. c) been changed

3. a)itis reported

4. c)itis believed that people hold onto

27




Maze 2(8 marks)

(>0 8) 12 dalll

O DY dullall 098:9.5 a8 8,80 JIS- oo HLaSYI G Blakell uelgill Ol 0gd udS suaio (po Hluisl Al

Gap-fill sentences within a MAZE
text that test students’ awareness of at-level grammar and sentence phrasing.

e Students will be asked to answer 9 multiple choice questions assessing students

understanding of the covered grammar in the exam in a short paragraph.

SAMPLE Jkie

Read the text and choose the correct option (a, b, or c) to fill in the gap.

Text:

In today's rapidly changing world, technology plays an increasingly important role in shaping cultural and
social norms. It is that technology has both positive and negative impacts on society. On one
hand, it has allowed for greater of information, making it easier to communicate and share
ideas globally. On the other hand, it has also led to the of certain traditional values and ways
of life, as younger generations are often more focused on digital interactions than face-to-face
communication. It is that, in the future, technology will continue to society, but
it is also important to recognize the potential of this progress. For example, while technology
has made life more convenient, it can also contribute to feelings of and disconnection if
overused.

(> 8) :2 dalinll
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1. In the first sentence, the correct verb form is:

a) believed
b) reported
c) recognized

2. In the second sentence, the most appropriate choice is:

a) awareness
b) availability
c) accessibility

3. In the third sentence, the most fitting choice is:

a) diminishing
b) diminished
¢) diminish

4. In the fourth sentence, which verb form fits best?

a) report
b) believed
c) recognized

5. In the fifth sentence, the correct form of the verb is:

a) transform
b) transformed
¢) transforming

29




6. In the sixth sentence, the correct form of the word is:

a) consequences
b) influence
c) benefits

7. In the seventh sentence, the most suitable word is:

a) connection
b) isolation
C) interaction

8. Which modal verb fits the context of the last sentence?

a) must
b) may
c) can

Answers:

C
C

recognized
accessibility
diminished
recognized
transform
consequences
isolation

may

O T
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o Textl : (6 marks)
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6 questions Multiple-choice reading

comprehension questions that demonstrate application of reading
skills.

Answers explicitly stated.

Students are asked to read a simple text and answer 5 multiple choice questions: A,B,C

Read the text and answer the following questions.

Text:

In today’s globalized world, technology has made vast
strides in improving communication. The advent of the
internet, smartphones, and social media has significantly
impacted the way people interact with each other. In the

past, communication was limited by geographical and
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technological barriers, but now, people can connect
instantly, regardless of their location. Social media
platforms, such as Facebook, Twitter, and Instagram, have
created new spaces for individuals to share their thoughts,
images, and experiences. These platforms also provide
businesses with new ways to interact with customers and
promote their products.

However, while technology has facilitated communication, it
has also led to new challenges. The rise of digital
communication has contributed to the decline of face-to-face
interactions, which can negatively affect personal
relationships. Studies have shown that excessive use of
social media can lead to feelings of loneliness and isolation,

especially among younger generations who spend much of

)1 2Bl
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their time online. Furthermore, the prevalence of online
misinformation and cyberbullying are growing concerns. As
people become more reliant on digital platforms, it is
essential to consider how this shift impacts society on a
broader scale.

Despite these challenges, technology also has positive
aspects. It has made it easier to access information, learn
new skills, and stay connected with family and friends across
the globe. Educational platforms and online courses are
helping people improve their knowledge, while video calling
allows families to maintain close relationships, even when
they are far apart. As technology continues to evolve, it will
be interesting to see how it shapes human communication in

the years to come.
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1. According to the text, what is one significant benefit of
modern technology?

a) It has led to a decline in face-to-face interactions.

b) It has made it easier to access information and learn new
skills.

c) It has caused an increase in online misinformation.

2. What is one of the challenges mentioned regarding the
rise of digital communication?

a) It has made people more reliant on face-to-face
interactions.

b) It has contributed to the decline of face-to-face

interactions.
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c) It has improved communication between businesses and

customers.

3. The text suggests that excessive use of social media can
lead to:

a) Increased physical activity.

b) Feelings of loneliness and isolation.

c) Improved personal relationships.

4. Which of the following is a concern related to digital
communication, as mentioned in the text?

a) The increase in online learning platforms.

b) The rise of online misinformation and cyberbullying.

c) The decline of mobile phone usage.
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5. What does the text imply about the future of technology in
communication?

a) Technology will have a negative impact on communication.
b) Technology will continue to evolve and shape human
communication.

c) Technology will lead to the end of face-to-face

interactions.

Answers:
1.b) It has made it easier to access information and learn
new skills.
2.b) It has contributed to the decline of face-to-face

interactions.

)2 il (sl
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3.b) Feelings of loneliness and isolation.
4.b) The rise of online misinformation and cyberbullying.

5.b) Technology will continue to evolve and shape human

communication.

Text 2 : (3 marks)

) 2 il (ol
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1question Multiple-choice reading
comprehension questions that demonstrate application of reading skills.

Answers explicitly and implicitly stated.

Students are asked to read a simple text and answer 3 multiple choice questions: A,B,C

Read the text and answer the following

questions.
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Text:

Maria had always been fascinated by the stars.
Ever since she was a child, she would spend
hours gazing up at the night sky, wondering
about the vastness of the universe. As she
grew older, her fascination turned into a
passion for astronomy. Maria spent her
evenings studying constellations and reading

books about distant galaxies and space

(©2)33) 4 a5

exploration.
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One evening, as she was observing the stars
through her telescope, she noticed something
unusual. A bright light appeared in the sky,
moving slowly but steadily. Maria couldn’t
believe her eyes. Was it a plane, a satellite, or
something else? She watched intently, her
heart racing with excitement. The light seemed
to grow brighter and then disappeared into
the night, leaving her with more questions

than answers.
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In the days that followed, Maria couldn’t stop
thinking about what she had seen. She told
her friends, but they were skeptical, dismissing
it as a trick of the light or some ordinary
object in the sky. Maria, however, felt a deep
sense of wonder and curiosity. She knew that
the universe was full of mysteries, and this
experience only fueled her desire to learn
more. As she looked up at the stars once

again, she realized that there was so much
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more to discover, and she was determined to

keep searching for answers.

1. What is Maria's main passion in life?
a) Space travel

b) Astronomy

c) Writing books

2. How does the tone of the text change

when Maria sees the unusual light in the sky?
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a) It becomes more relaxed and humorous.
b) It becomes more excited and filled with
curiosity.

c) It becomes sad and confused.

3. What can be inferred about Maria’s
personality from the text?

a) She is skeptical and dismisses unusual
events.

b) She is driven by curiosity and a desire to
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explore.
c) She prefers to stay indoors rather than

explore the outdoors.

Answers:
1. b) Astronomy
2. b) It becomes more excited and filled
with curiosity.
3. b) She is driven by curiosity and a desire

to explore.

Text 3 : (7 marks)
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6 questions Multiple-choice reading

comprehension questions that demonstrate application of
reading skills.

Answers explicitly and implicitly stated.

Students are asked to read a simple text and answer 7 multiple choice questions:

AB,C

Read the text and answer the following questions.

Text:
In recent years, there has been an increasing focus on sustainable
living, with more people choosing to live in a way that minimizes

their environmental impact. Sustainable living refers to making
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choices that are environmentally responsible, economically viable,
and socially equitable. People who adopt a sustainable lifestyle aim
to reduce their carbon footprint, conserve natural resources, and
support practices that contribute to the well-being of the planet.
One significant aspect of sustainable living is reducing waste. Many
people have adopted the practice of recycling and composting,
which helps keep materials out of landfills and reduces the need
for new resources. Some individuals have gone further by opting
for a zero-waste lifestyle, where they try to avoid any waste at all.
This involves using reusable items, such as cloth bags, glass
containers, and metal straws, and reducing the consumption of
single-use plastics.

Another important aspect is the use of renewable energy. Solar
panels, wind turbines, and other forms of clean energy are

becoming more accessible and affordable. These technologies
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allow households to generate their own energy, reducing their
dependence on fossil fuels. In addition to benefiting the
environment, renewable energy can also lower utility bills, making
it a practical option for many.

Sustainable living also involves making conscious choices when it
comes to food. Eating locally grown produce, for example, reduces
the carbon emissions associated with transporting food over long
distances. Many people also choose to eat less meat, as livestock
farming has a significant environmental impact. These choices not
only benefit the planet but can also improve personal health.
While sustainable living may require some initial investment or
changes in lifestyle, the long-term benefits are undeniable. It
contributes to a cleaner environment, helps conserve resources,

and promotes a healthier lifestyle. As more people embrace these
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practices, the collective impact on the planet will continue to grow,

leading to a more sustainable future for generations to come.

1. What does sustainable living primarily aim to reduce?
a) The cost of living
b) Environmental impact

c) The need for technology

2. What is one of the main practices that people who follow a
sustainable lifestyle adopt?

a) Using more disposable products

b) Recycling and composting

c) Increasing consumption of meat

47




3. According to the text, how does renewable energy benefit
individuals besides helping the environment?

a) It provides free energy forever.

b) It can lower utility bills.

c) It makes people more reliant on fossil fuels.

4. What is one way people reduce their carbon footprint related
to food consumption?

a) By eating food that is imported from other countries.

b) By eating less locally grown produce.

c) By choosing locally grown produce.

5. What does the text suggest about the initial investment in

sustainable living?
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a) It is too expensive for most people.
b) It has little effect on lifestyle changes.

c) It may require effort or cost but offers long-term benefits.

6. How does reducing meat consumption relate to sustainability?
a) It decreases the environmental impact of livestock farming.
b) It increases reliance on imported goods.

c) It has no effect on the environment.

7. What is the overall tone of the text?
a) Negative and critical
b) Informative and encouraging

c) Pessimistic and doubtful

Answers:
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b) Environmental impact

b) Recycling and composting

. b) It can lower utility bills.

c) By choosing locally grown produce.

c) It may require effort or cost but offers long-term benefits.

a) It decreases the environmental impact of livestock farming.

N o o ~ W D oPRE

. b) Informative and encouraging

Text 4 : (3 marks)
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3 questions Multiple-choice reading
comprehension questions that demonstrate
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application of reading skills.

Answers implicitly stated.

SAMPLE Jkio

Read the text and answer the following questions.

Text:

In recent years, there has been a growing movement towards
plant-based diets. People are increasingly turning to
vegetarianism or veganism for various reasons, including
health benefits, environmental concerns, and ethical
reasons. Research has shown that plant-based diets can

reduce the risk of chronic diseases such as heart disease,
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diabetes, and obesity. Additionally, plant-based eating has a
lower environmental impact compared to diets that rely
heavily on animal products. Livestock farming is a major
contributor to greenhouse gas emissions, deforestation, and
water pollution, making plant-based diets a more sustainable
choice for the planet.

Beyond the health and environmental aspects, many people
choose plant-based diets for ethical reasons. Factory
farming, which is commonly used in the meat industry, often
involves inhumane treatment of animals. By adopting a
plant-based diet, individuals can reduce their involvement in
these practices and support more ethical food production

systems.
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Despite these benefits, switching to a plant-based diet can
be challenging for some people. For one, it often requires
significant changes to eating habits, which may be difficult to
maintain over time. Additionally, plant-based foods may be
perceived as less convenient or more expensive, although
this perception is changing as more people embrace this
lifestyle. Many grocery stores now offer a wide variety of
plant-based products, making it easier for people to find
alternatives to meat and dairy.

As more people adopt plant-based diets, there is also an
increasing demand for plant-based products, which has led
to innovation in the food industry. Companies are developing
new plant-based meats, cheeses, and dairy alternatives that

are more affordable and accessible than ever before. As the
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movement grows, plant-based eating is likely to become even
more mainstream, contributing to a shift in global food

consumption patterns.

1. What is one of the main reasons people choose a plant-
based diet?

a) To support factory farming practices.

b) For health benefits and sustainability.

c) To increase their consumption of animal products.

2. According to the text, what is a challenge people face
when switching to a plant-based diet?
a) Finding plant-based foods in stores.

b) Significant changes to eating habits and perceived high
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costs.

c) Increased availability of animal products.

3. What does the text imply about the future of plant-based
eating?

a) It will likely become more popular and accessible.

b) It will remain a niche lifestyle.

c) It will be replaced by other diets.

Answers:
1.b) For health benefits and sustainability.
2.b) Significant changes to eating habits and perceived
high costs.

3.a) It will likely become more popular and accessible
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Grammar: 8.1 s i1 Ll i

Q17:___ ,ldon'tthinkit's agoodidea.
« A.Personally
« B.Inperson
. C.Aspeople

Q18: _ the work before the deadline?
. A.Canyoudotoend
« B. Mustyou be finishing
. C.Willyou have completed

Q19: | noticed the business for sale because through the area.
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Q20:

Q21:

Q22:

Q23:

A.I'm to drive

B. I'd been driving

C. I'll have been driven

I told John, __ , and then | told you.

A. where | am working to

B. who | work for

C. that works with

Hehad_____ torunthe business on his own.
A. usually leaves

B. already leaving

C. always been left

, I will close the business when we stop making money.

A. Taking the long view
B. Being a long way

C. Practically a long time

to programme a computer by the time | leave university.

A. I will be learn where
B. I'll have learned how
C. I'd be learning what
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Q24: _ his carfor months.
« A.He'd been thinking about selling
« B. He hasthoughtto have sold
« C.Heishaving aneedtosell
Q25: Theshop__ wasinthe other mall.
« A.thatwe are buying the cheap clothes
. B.inwho we were to buy the cheaper clothes
« C.whichwe bought the cheapest clothes from
Q26: The ceremony ___ very well and everyone was very happy.
« A.wasto be arranged
« B. hadbeen organised
. C.did being planned
Q27:__ ,technology is essential to any workplace.
« A.Asthe dayends
. B.Onaday'sending
. C.Atthe end of the day
Q28: The guests___ eating until 9pm.
« A.won't have finished
« B.can'tbe finish
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« C.mustn'tfinishing
Q29: Howlong __ before you graduated?
« A.you having to study
. B. hadyou been studying
. C. haveyou studied
Q30: Thisisthecoat .
. A.thatlwastelling you about
« B.whichlhad been talking from

« C.whollike talking on

Q31: The product when the fault was detected.

« A. having been ready for delivery
« B. haveto be deliver
. C. had already been delivered
Q32: Thatoption _____intomorrow’s meeting.
« A.could be discussed
« B. should have to discuss
« C.would been discussing
Q33: Ourland ___ bythe end of the year.
« A.should be selling
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« B.could beento sell
« C. mightbe sold
Q34: Growing up, Saeed _____ from fewer allergies if he had chosen to live in the countryside.
« A.would have suffered
« B. mightto have feel
« C.should be getting
Q35:1__ byyouremployer.
« A.assumed the situation was going to be handled
« B.imagined the situation has been to handling
. C. predicted the situation is to handle
Q36:1__ anenvironmentalistif | had studied harder.
« A.might had becoming
« B.should having became
« C. could have become
Q37: Mohammed ____ about global warming.
. A.requested Saif has written
. B. encouraged Saif to write
. C. suggested Saif writing
Q38: Fatima___ to London.
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. A.believedyou are to travel
« B.thoughtyou were travelling
. C. saidtoyou have travelled
Q39:1t__ bytomorrow.
« A.might been doing
« B.should be done
. C.oughtto being do
Q40: Thecompany ____isvery big.
« A.heworksin
. B.workinginthat
« C. which he worked
Q41: If we had left earlier, we ___ our flight.
« A.couldn’t be missing
« B.wouldn’t have missed
o C.mightnot getto miss
Q42: Hind ___ anelectric car for her daughter.
. A.istohope buying
« B. hashopedto bought
. C.was hoping to buy



Q43: | asked Amna, about the incident.

« A.that have known

« B.howistoknow

« C.who already knew
Q44:1__ agreenhouse.

« A.amto plan to built

. B.was planning to build

« C. planned to building

Q45: Hamad the cat he rescued, but he did.

. A.wasn’tintending to keep
. B. hasn’tintended as kept

« C.didn’t keep intending

Q46: | already told Mr. Rashid, the information down.

« A.who wrote
« B.thatwrites

« C.when written
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Q17:

Q18:

Q19:

Q20:

Q21:

Q22:

Q23:

Q24:

Q25:

Model Answers

__ ,ldon'tthinkit's a good idea.

Answer: A. Personally

_____thework before the deadline?

Answer: C. Will you have completed

| noticed the business for sale because __ through the area.
Answer: B. I'd been driving

ltoldJohn, ___ , andthenltold you.

Answer: B. who | work for

Hehad____ torunthe business on his own.

Answer: C. always been left

_ ,lwill close the business when we stop making money.
Answer: A. Taking the long view

__ toprogramme a computer by the time | leave university.
Answer: B. I'll have learned how

his car for months.

Answer: A. He'd been thinking about selling

The shop was in the other mall.
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. Answer: C. which we bought the cheapest clothes from
Q26: The ceremony_____ very well and everyone was very happy.
« Answer: B. had been organised
Q27:__ ,technology is essential to any workplace.
. Answer: C. At the end of the day
Q28: The guests ___ eating until 9pm.
« Answer: A. won't have finished
Q29: Howlong __ before you graduated?
. Answer: B. had you been studying
Q30: Thisisthecoat__
« Answer: A. that | was telling you about
Q31: The product___ when the fault was detected.
. Answer: C. had already been delivered
Q32: Thatoption _____intomorrow’s meeting.
« Answer: A. could be discussed
Q33: Ourland___ bythe end of the year.
« Answer: C. might be sold
Q34: Growing up, Saeed ___ from fewer allergies if he had chosen to live in the countryside.
« Answer: A. would have suffered
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Q35:1__ byyouremployer.
. Answer: A. assumed the situation was going to be handled
Q36:1__ anenvironmentalistif | had studied harder.
« Answer: C. could have become
Q37: Mohammed _____ about global warming.
. Answer: B. encouraged Saif to write
Q38: Fatima___ toLondon.
« Answer: B. thought you were travelling
Q39:1t__ bytomorrow.
« Answer: B. should be done
Q40: Thecompany ____isvery big.
« Answer: A. he works in
Q41: If we had left earlier, we ___ our flight.
« Answer: B. wouldn’t have missed
Q42: Hind ___ anelectric car for her daughter.
. Answer: C. was hoping to buy
Q43: 1 asked Amna, __ aboutthe incident.
« Answer: C. who already knew
Q44:1__ agreenhouse.
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. Answer: B. was planning to build
Q45: Hamad __ the cat he rescued, but he did.
. Answer: A. wasn’tintending to keep
Q46: | already told Mr. Rashid, ___ the information down.

« Answer: A. who wrote
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